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Statement Why was it wrong? 
A database can only be stored 
on a computer 
 

 
 
 
 
 

A record contains one piece of 
data about a person or thing 
 

 
 
 
 
 

All of the records in a database 
are stored together in a field 
 

 
 
 
 
 

You already know the correct 
answer to a hypothesis before 
you begin collecting data 
 

 
 
 
 
 

The best way to analyse large 
quantities of data is by looking 
at it in a very big table 
 

 
 
 
 
 

The design of a questionnaire 
doesn’t really matter – people 
will fill them out anyway 
 

 
 
 
 
 

This is a good example of an 
open question: 
 
Which superhero are you: 
 

• Batman 
• Spiderman 
• Superman 
• Incredible Hulk 

 

 
 

Name ……………………………………………………………………………………………….

Explain why these statements are wrong 
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